Series (HKMO Classified Questions by topics)

1983 FG7.4
N1 1 1 1
Shr Y =T T T Do
=y 1 23
Py Loy ! (5% 0 ot 7 -)
+ _ it o (B x i Bk T o
Y=3y_2 y=3y_1
n
Given that Z£:}+£+1+...+1_
y=1y 1 2 3 n
. 10 1 10 1 - -
Find the value of - T (Express your answer in fraction.)
Y=3y_ y=3 )

1985 FG7.4

%8=1+2-3-4+5+6-7—-8+---+1985> kS ehig o
IfS=1+2-3-4+5+6-7—-8+---+ 1985, find the value of S .
1988 FG6.4

#K=1+2-3-4+5+6-7-8+---+1001 +1002 » F K &g -

IfK=14+2-3-4+5+6-7—-8+---+ 1001 + 1002, find the value of K .

1990 FG10.1

#A=1+2-3+4+5-6+7+8-9+---+97+98-99 > K A g -
IfA=1+2-3+4+5-6+7+8-9+---+97+98-99 find the value of A .

1991 FSI.1
#a=-1+2-3+4-5+6—--+100 - Fa g -
Ifa=-1+2-3+4-5+6-—--+ 100, find the value of a .
1991 FSG.2

n 10 10
v T 1:%.{_14_;4_...4_1,;2 1 _ 1 =b o]t\bmlfio
x=1 X 1 2 3 n X=4 X - 2 X=4 X _1 18
n 10 10
=X 1 2 3 n maXx—2 Tax-1 18
Find the value of b .
1992 FI1.4

#S=1+2-3-4+5+6-7-8+.--4+205> £S5 -
IfS=1+2-3-4+5+6-7-8+ --- + 205, find the value of S .

Created by Mr. Francis Hung
1998 FI2.4
#d=1-2+3-4+..--100 fd e#icig o

Ifd=1-2+3-4+-.--100, find the value of d .

2014 F13.4

T RE 1,2,1,2,2,1,2,2,2,1,2,2,2,2,1,2, ... > £5 457 e 5o
Forthesequence 1,2,1,2,2,1,2,2,2,1,2,2,2,2,1,2, ...,

determine the sum & of the first 45 terms.

2014 FG2.2

FSh=1-2+3-4+ . +(1)"In> % ¢ nE_& E# > K Si7+ Sz + Sso e
B °

IfSh=1-2+3—4+ ...+ (-1)"1n, where nis a positive integer,

determine the value of Si7 + Saz + Sso .
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Answers
1983 FG7.4
8 1985 FG7.4 1988 FG6.4 | 1990 FG10.1 1991 FSI.1
5 1 1003 1584 50
1991 FSG.2 1992 FI1.4 1998 FI2.4 2014 FI3.4 2014 FG2.2
7 1 =50 81 1
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